
语法讲义

[例 1] America and Americans were prosperous beyond the dreams of the Europeans and Asians whose

economies the war had destroyed.

[例 2] Aimlessness has hardly been typical of the postwar Japan whose productivity and social harmony

are the envy of the United States and Europe.（2000 年阅读 Passage 4）

Q：In the Westerner’s eyes, the postwar Japan was ________.

[A] under aimless development [B] a positive example

[C] a rival to the West [D] on the decline

[例 3] The Nobel Foundation’s limit of three recipients per prize, each of whom must still be living, has

long been outgrown by the collaborative and advanced nature of modern research, as will be

demonstrated by the inevitable row over who is ignored when it comes to acknowledging the discovery of

the Higgs boson.（2014 年英语一 Passage 3）

Q：The discovery of the Higgs boson is a typical case which involves _____.

[A] the joint effort of modern researchers [B] controversies over the recipients’ status

[C] the demonstration of research findings [D] legitimate concerns over the new prizes

榨干长难句的剩余价值

1）榨干零件的利用价值

outgrow 的用法

[例] 中国的计划生育政策随着人口老龄化而逐渐不适用。



2）榨干骨架的利用价值

句型骨架

[例]创新逐渐得到了中国科技企业的重视，因为中国企业认识到创新能够提高企业的核心竞争力，

比如你可以看到具备创新功能的华为手机广受消费者的青睐。

复盘巩固学习

类似句型复盘

The labor law’s limit of retirement age, which is 60 for males and 50 for females, has long

been outgrown by the reality of gravely aging population, as will be demonstrated by the

inevitable aggressive street protest with rallying cry that women are still productive even

after the age of 65.


